1, SaveMyExams

Headtosavemyexams.co.ukformore awesomeresources

2.2 Forces

Question Paper

Course DPIB Physics
Section 2.Mechanics
Topic 2.2 Forces
Difficulty Easy

Time allowed: 20

Score: /10

Percentage: /100
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Question1

Aladderrests on arough walland rough horizontal ground. Which diagram correctly labels all forces acting on the ladder?

A B
Weight €<—— Contact €<—
Ladder Ladder
Wall Wall
Contact Contact
Friction Contact Ground Weight
Friction
c D
Friction
Contact €<— Contact<—;
Friction
Ladder Ladder
Wall Wall
Contact Contact
Weight Friction
Friction
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Question 2
Aparachutist of mass 75 kgis falling vertically through the airat a constant speed of 0.6 ms™.
Whatis the resultant force on the parachutist?
A.ON
B.75N
C.750N
D.1000N
[1mark]

Page 2 of 5

©2015-2023 Save MyExams, Ltd. -Revision Notes, Topic Questions, PastPapers



https://www.savemyexams.co.uk/?utm_source=pdf
https://www.savemyexams.co.uk/

1, SaveMyExams

Headtosavemyexams.co.ukformore awesomeresources

Question 3
Which statement best summarises Newton's Third Law of Motion?

A.If object X exerts a force on object Y, then object Y exerts a greaterand opposite force on object X
B. If object X exerts a force on object Y, then object Y exerts alesserand opposite force on object X
C.If object X exerts a force on object Y, then object Y exerts an equal and opposite force on object X

D. If object X exerts a force on object Y, then object Y exerts no force on object X

[1mark]
Question 4
Theimage shows a blockrestingon aninclined plane.
R
F
it}
W not to scale
Which row in the table gives the correctinterpretation of the forces acting on the block, R, Fand W?
R F w
A weight reaction static friction
B. dynamic friction weight reaction
C. reaction dynamic friction weight
D. reaction static friction weight
[1mark]
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Question 5
Which statement about Newton's Second Law of Motionis true?

A.Forbodies of constant mass, theresultant force acting onitis inversely proportional toits acceleration
B. Forbodies of anon-constant mass, theresultant force acting onitis proportional toits acceleration
C.Forbodies of constant mass, theresultant force acting on itis proportional to its acceleration

D.Forbodies of anon-constant mass, theresultant force actingonitis inversely proportional toits acceleration

[1mark]
Question 6
Which of the following statements about friction is not true?
A. Friction always acts in the opposite direction to the direction of motion
B. Static friction occurs when two solid objects are in contact and no movement occurs between the two objects
C.Forastationary object, the force due to the coefficient of dynamic frictionis at a maximum
D.Forastationary object, the force due to the coefficient of dynamic friction is zero
[1mark]
Question7
Which statement best summarises Newton's first law of motion?
A.Whenevertwo objects interact the forces they exert on each otherare opposite.
B. Aresultant force on an objectis equal to therate of changein momentum.
C.Abody willremain atrest ormove with constant velocity unless acted on by aresultant force
D.Abody willmovein a constant velocity only if thereis a resultant force actingupon it
[1mark]
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Question 8
Which statement about drawing free body diagrams is not correct?

A. Arrows must be drawn to scale andrepresent the size of the force involved
B. Allforce arrows must touch the object applying the force
C.Force arrows mustbe drawn as straightlines with a ruler

D.Force arrows don'thave to belabelled

[1mark]

Question 9
Which of the following equations for static friction is correct?

A.F=ma
B.Fs=usR
C.Fs=ugR
D.F=IAt
[1mark]

Question10
Which statementis correct about the coefficient of friction, u?

A.ltis always between O and
B. The coefficient of friction can be different for the same material in different situations
C.The coefficient of dynamic and static friction between the same two surfaces will be different

D.The coefficient of dynamic friction is equal to the frictional force multiplied by the reaction force

[1mark]
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